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IMPORTANT NOTES:

1) Please make sure that you have written your student number, name and signature
above.

2) Check that the exam paper contains 5 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.

4) Please TURN OFF your cellphones.
5) Calculators are NOT ALLOWED.

6) It is not allowed to leave the exam during the first 30 minutes.




1) a) (10 pts) Find a parametric equation for the line through the point (1,0,2) and parallel
to the vector v = 2i + 35 — k.
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b) (10 pts) Find a parametric equation for a line through the point (2, —1,0) and
parallel to the plane 3z — y + 2z = 10.
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2) a)(10 pts) Find an equation for the plane through the points A(1,-1,2), B(3,0,2),
C(-1,2,1).
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b) (10 pts) Find a plane through the point P(—2,1,—-1) and with a normal which is
parallel to the line of intersection of the planes z — 3y+z=2and3xr+y—2z=14
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3) a) (10 pts) Find the distance from the point P(1,—1,3) to the line
l:z=2t+1,y=—t,z2=2-3t
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b) (10 pts) Find the distance form the point P(0
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c) (5 pts) Is the line x = —2t,y = 1 — 5¢,z = 3 + 2t perpendicular to the plane
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4) a) (5 pts) Find the equation of the parabola with focus at (3,2) and directrix the line
x = —1. Graph the parabola.
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b) (5 pts) Find the equation of the ellipse having one focus at (0,3) and one vertex
at (0, —4).Graph the ellipse.
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c)(5 pts) Find the equation of the hyperbola with center at origin, one focus at (0, 5)
and one vertex at (0, —3). Graph the hyperbola.
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5) Classify the given equations: Do they define a circle, a parabola, an ellipse, a hyperbola
or neither of them ? Give reasons for your answer.
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b) (7 pts) 522 — 30z + 9y* + 36y + 36 =0
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